qﬁwwl‘rm:lﬂ

NAFUWTE
ATy
941 836
2023
FEGZT
( Hindi & English Versions |
7ug - A7 vz s famz | = : 70

Mz 0 AeN F )5 o vhwrieat ® s w3 & few Baifa |
Note :  First 15 minutes are allotted for the candidates to read the question

paper.

1) oMt gva sfvard §

i) TE OWYA % q WV, WVE - R AG Wvg - W E |

i) WO - WA 1 3F & 20 Fawed v § e I Mo YHe ARe I T
wWEA ¥

v WUE - ® & WAw W & (R0 WE 39 WTA Mo [Ho WWo I TIH T A
I 2| 3o Yo WMo I T9% W IM &1 & WU TN W H2 A [ 39
mmﬂnqﬁ.

v) m%mmmﬁfmh

vi) WYE - WH 80 3F & IVAEE W § |

viij  WE - W3 @ W & I 0F §Y 8 AL

vin) TR T¥ A IO FAT AY ¥R 0¥ A% @ A0 M WA T AW R I/ W
gy q@ F $ifAn |

05000/226 ' | Turn over

https://www.upboardonline.com



836

Instructions :

1) All questions are compulsory.

) This question paper has two Parts - Part-4 and Part-B.

ni)  Part-A consists of 20 multiple choice questions of one mark each that

have to be answered on OMR Answer Sheet.

For Part-A read the question-wise instructions and mark your answer on
the given OMR Answer Sheet only. Do not erase, cut or use whitener on

the OMR Answer Sheet after answering.

1v)

v} Marks of the questions are mentioned against them.
vi)  Part-B consists of descriptive type questions of 50 marks.
viij  All the questions of Part-B arc to be attempted all at a time.
viii)  Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.
vy - A
Part - A

( wgfawadiia wv )

( Multiple Choice Questions )
fw - W WEN 1§ 20 sgaeam ¢ fefafaa et F v@s % ar-aw
dstea® IW U M ¢ | I W W fawen g9 FHAR Ao wHo Ao
I TEE W 3HfHa #l

Instruction : Question Nos. 1 to 20 are Multiple Choice Type. Four alternative
answers are given in each question. Select the correct alternatives
out of them and mark them in OMR Answer Sheet scrially.

I TCP/Ip sietames #0 ¢ Foge 3vam foite efimm savm @ & fou faar st & 9
(A) TwIG JB) &R

(C) gt (D) ARoTodRotto 1
1. What is the TCP/IP Protocol which is used for remote terminal connection
service ?
(A) FTP B) TELNET
(C) UDP (D) RARP 1
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3
,  EHE AW Wﬁﬁmﬁmm@mlpﬁﬁmmmw? 7
A} EetHouwo (B) U0 AT30THo
©  woTwews e |

2. What is the name of service which is used to translate a domain name o
IP address ?

(3 DNS (B) NIS
(C)  NFS (D) SMB 1
3. foFa &Ad & s He @ o2
@) [ Zraeem B) Frad wweda
(©) fae em (D) &7 9w 1
3. Who founded the Linux Kernel ?
(A) Linus Torvalds (B) Richard Stallman
(C)  Bill Gates (D) Ben Thomas 1
2 Frefefiga § @ fea #ATE &1 39 e satEd ® awe & fog e o g 2
(A) cd ! (B) chdir
(C) dir (D) changed 1
4. Which of the following commands is used to change the working
directory ?
“A) cd (B) chdir
(C) dir (D) changed 1
5. 0SS & T ¥ &
(A]\ Open Source Software (B) Original Source Software
(C) Original System Software (D) Open System Software 1
5. The full form of OSS is
JA)  Open Source Software (B) Original Source Software
(C) Original System Software (D) Open System Software 1
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(A) wc 8 wcount
(C) countw (D) count 1
6. which_i.inux command is used to count the total number of lines, words

and characters contained in the file ?
IQJ we JB) wcount

count

(C)  countw (D) :

¢ wEaEl & o #ad s ged soge ¢ i feafe e AEeee &
HarA & fon wavrtyds faitaa oF aafad s @ 2
(A)  fam (B) T &R

(C) #vitag (D) ®R

Which topology is best suited for large businesses, that must carefully

1

-‘\i

control and coordinate the operation of distributed branch outlets ?

(A} Ring (B) Local area

(C)  Hierarchical (D) .Star 1

8. T W gRAe fhy MO gxaE @ wuE @R R
(A) TTE AFT AT (www) B) i faew
(c) dfem = (D) FRITEHRL ATh-3 ey
8. A collection of hyperlinked decuments on the internet forms the
(A) World Wide Web (www)
(B) E-mail system
(C}]  Mailing list

() Hypertext markup language
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S
o, Wl HRAW faren & gl UG F Awe ¥ 2
(A) FIATETA (B) ﬂza
(€ e (D) STTE FH 1

9. Which software prevents the external access to a system ?
(%  Firewall (B) Gateway
(C) Router (D) Virus checker 1

10. HTTP 95 & =1 g1 ¥Y ¢ ?

(A) eI e ¢fem wmm B) R IR e

(C) FEW WL AW Hieiwe (D) TR TR ZEET W 1
10. The full form of HTTP is

(A) Hyper Terminal Tracing Program

(B) Hyper Text Tracing Protocol

J2)  Hyper Text Transfer Protocol

(D)  Hyper Text Transfer Program 1

11. mﬁﬁ@ﬁﬁ%hmmmmmmﬁmhﬂﬁs
e e & W A ¥ 2
(A) sreieee Raws 1 (B feHe FER
(C) a#qf%mﬁﬂﬁﬁ (D) RS 1

11. What kind of transmission medium is most appropriate to carry data in a

computer network that is exposed to electrical interferences ?

(A) Unshielded twisted pair @ Optical fibre
(C) Coaxial cable (D) Microwave 1
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12 & U3H xyaadfg.edu H "xyz' ¥ ¢ ?

(A)  TrEag @ FH AT

©) 7AW (D) FAEE FEL

2. In the e-mail address xyz@dfg.edu, "xyz" is the

(A password {B) server name
(C) username

13. FSF# & ?

(A) I W GTEIE (B) Wl WA FRA

(C) WA W HR (D) S WRATT FIFA
13. FSF stands for

(A)  Free Software Foundation {B) Free Software File

(C)  File Server First (D) File Software File

14. .net $MF AW fHwd fore wam gar & >
(A) eI dwE
(B) T PHRZFR T HaT WeTa
(C) =R |1
(D) T T *d &
14. .net domain name is used for
(A) educational institution
uB) internet mrrast;ucture and service providers
(C) international organization
(D) none of these
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-~ e _;' r 3
5. @cc A% A7 fHud gry weenfad faar @ ?

(A)  Taet em B faer ol
©  fem e (D) ¥ e
World wide web was proposed by

(A)  Bill Gates (B) Bill Rogers

(C) Tim Berners Lee (D) Steve Jobs

frfeifaa d @ #19-81 v e JE9 TR € 2

(A)  Aewhy Hferiex B) ®m

) g (D) ¥ 1
16. Which of the following is not an internet browser ?

(A) Netscape Navigator (B) Chrome

\2) Drupal \)P] Opera 1
17, aaefen fae @1 AW WA S & (o feg wEie 1w e s 2

(A) OS (B} Unix

(C) Kernel WD) Uname . 1
17. Which command is used to display the name of operating system ?

(A) OS (B) Unix

(C) Kernel (p} Uname 1
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18 Unix f#@ ware &1 snadfen faea 8 7

- e A
(A)  WEEPR (B)
(C) wedafiam (D) A 1
IR Unix s which kind of operating system ?
(A)  Multiuser (B) Multiprocessing

(C)  Multitasking D) Al of these

19 9% Aao 1 O fafore gan glen & ford ... . B AL I
JAl  URL (B} ARL
(C) RVL (D)  LUR 1

19. Every webpage has a unique address called
“fA} URL (B) ARL

(C) RVL (D) LUR 1

20 WVTER stEn fawgar @ # war wx & o fwe gln @ 3w e s

& 7
(A) & (B)
(C) &%¥H (D) wREd 1

20. Which feature is used to identify messages by category or topic ?

X) Flag (B) Block
(C) Vacation (D) Forward
05000/226

https://www.upboardonline.com



g

GUg - ¥
Part - B
( wfa =g 39dg wvT )
( Very Short Answer Type Questions )

Answer, in brief, the following questions :

—

9,

L w N

4
S
5
6
6.
7
7
8
8
9

WAN & g0 &Y fefaw |
Write the full form of WAN.
GUI ¥ ¢ ?

What is GUI ?

1100 %1 2's Fnwmie fafay |

Write the 2's complement of 1100.

OR 3 AND 7128 %} g9 2= fafay |
Write the truth tables of OR and AND gates.
TAemdd 1 o vt fefag

Write the full form of EBCDIC.
"A" T "a” &% T Ascn SE W ¥ ?
What is the ASCII code of "A® and "a" ?
ot @ afewifsa Fifag |

Define array.

SMTP ¥R RN T ?

What is an SMTP client ?

ASCIl F1 #7134 ¢ ?

What does ASCII stand for ?

10. I g F AR Fm | T ?

10. What are the four rules of binary addition ?
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( g 30T )

Questions )

B36

( Short Answer Type

g & x
IW 2 5 x 2= 10

Answer the following :
V(%) umy-z-di dead @ g 2

(@) oTd g ' 2

(7) URL#TE ?

(9) e FFMeam § ?

(3) #Hv= 9 & ¥ F1aR & 2
I'l. (a) What is a peer-to-peer network ?

(b) What is a proxy server ?

(c) Whatis URL ?

(d) What are the advantages of Linux ?

(¢) What are the advantages of open source ?

|t gvE % I afwz :

Answer all the questions :
12. (%) frfefaa & Fram | Soaam @@ seror # wRd & w6 0 § Zafem

& ¢ https:// www.upboardonline.com
T fAae, o e, 0F aRe, o fae

(@) LILOFT§ ?

(1) TYIA THT F WIART |

(9) ‘grep' wuis ¥ ¢ ?

(%) &M CF & @) WA F1 @ e w4 )

Sx2=10
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12. {a) Arrange the following in correct order of units of storage from lowest

to highest :
a megabyte, a kilobyte, a terabyte,
a nibPlc. a gigabyte, a byte, a bit
{b) What is LILO ?
(¢) Explain the Virtual Desktop.
(d) Whatis ‘grep’ command ?
(¢ How do you terminate an ongoing process ?

fy &1 I ﬂﬁ'ﬂl :
Answer the following : 3 x g = 12
13 (@) detg o glan vd wifen woageam ated feaol e

() BASH Uaq DOS & ara i =) &0 ¢ ?

(1) U 2T a1 WA (ISP) T & 2 WHHART |
13. (a) Write, in brief, a note on searching and sorting with cxamples.

(b) What is the basic difference between BASH and DOS ?

(¢) What is an internet service provider (ISP) ? Explain.

( €rd Fwdia we )
( Long Answer Type Questions )

14. C-mﬂ!ﬁaﬁmﬁf:{mﬁiﬁﬁﬂiﬁmﬁmmmz 8
ARA AT

Gy T qaoed
srqan

gaftre s aftuasd (Arrays) ) ITET WK THHERT |
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Write a brief note on any one of the followng in C-language
Labrary functons

LIk

Functions and Subroutines

Explain subscripted vanables (ArTavs) with exampics

e e S ——
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